Your scratch work is due today for the Khan that was due last night.

Have it ready to turn in when | come around.

Make sure your name is on it @

’m WHOLE NUMBERS

GUIDED NOTES
IMPORTANT VOCABULARY: >3

« Dividend: The amount being A\V\dﬁd into 0
« Divisor: The number by which another number is being ol 32r'| 0
divide J. -271
+ TQuotient: The answertoa _Ql\ V 15 oY)  problem. <7
DIVIDING DECIMALS BY WHOLE NUIMBERS -SYy
1. Dividing decimals is similar to dividing SAZ N Ol € O‘L
NuMbexs. -
2. When you divide a decimal by a whole number, place the 30
decimalin the _quU Ot ien o
3. Then divide as yal would normally C\IVldQ, whole numbers.
. TO DIVIDE TWO NUMBERS:
: D..—Divide _ E
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: € Check :
. B_ Bring Down E
GUIDED PRACTICE
What is 4.56 divided by 2?7 What is 23.1 divided by 14?
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DIVIDING DECIMALS RBY

WHOLE NUMBERS

PRACT ICE PROBLEMS
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#7 Jessica makes $9.00 an hour babysitting her sister. If Jessi
$38.25, how many hours did she babysit?

4.75

Jessica babysat for 4 and % hours.

4 hours, 15 minutes.

9139.25
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Homework is on Khan Academy. Scratch work recMi@d!!!
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Name: Date:
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GUIDED NOTES
IIMPORTANT VOCABULARY:

- Dividend: The amount being _| divided °
« Divisar- The nymber by which another number is being
| divided | —
Quotient: The answer to a division problem.

DIVIDING DECIMNALS BY DECIIMALS

—

1. To divide a decimal by another decimal, Y AWt €  the
divisor as a whole number. :

2. To do this, move the decimal of the divisorto the __ ¥ IQh'l?
until it is a whole number. . Ol

3. Then, move the decimal in the A\ \V4 Ideﬂ the same
number of spaces to the right.

4. Youmayneedtoadd 2ZerQ.s

5 Rewrite the problem so you don’t get confused.

SRR TGN
What is the quotient of 12.48 and 0.8? | 5 b
Dividina Decimal
0:{ 124
0 Move the decimall _8.-":11 ‘[
of the divisor to the -40

right unfil it is a
whole number.

(23

O Move the decimal
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in the dividend the Vg)llu'r is the quotient of 63.7 and 2.6? 2 l._‘ g'
same number of 2
spaces to the right. ;(Z(:} 2'._6,,13\70
Q Add zeros if ——— ..5\2 1«
necessary ‘ OL' | ( 7
| 10y
O Rewrite the —
problem and solve. ‘ 3 O
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DQACT ICE PROBLEMS

#1  Whatis 9.14 divided by 0.042 #2 Whatis 0.382 divided by 0.8¢
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Yy #3 Whatis the quotient o f 7.936 #4  What is the quotient of 82.488 ‘ﬂ%_ b
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#7 Joshua spent $22.68 on apples. If apples cost $1.89 a pound, how | many
pounds did he buy? | Z.
i n Nq
a2l 189 .99 22 |12
-1 89 x 2 Q_ﬁ FOU ﬂJS
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Homework is on Khan Academy. Scratch work required!




